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Chapter 8 Test Review
*** Only “mini” 5 function calculators allowed on this review packet and on the Chapter 8 TEST. 
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Find the domain of each of the following:
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Find the inverse:
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	19. Are m(x) and r(x) inverses of each other? Justify your answer using one of the methods that we discussed in class (other than graphing).

 


Determine if each pair of functions are inverses of each other by…

	20. Finding the inverse of one algebraically and comparing it to the other.
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	21. Verifying that 
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22. Let 
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a. What is the domain of the function f? ________________________________________________________________

b. What is the range of the function f?    ________________________________________________________________

c. Find the inverse of f. 

       ________________________________________________________________

d. What is the domain of f inverse? ________________________________________________________________

e. What is the range of f inverse?    ________________________________________________________________
Use the Horizontal Line Test for Inverses to determine whether the inverse of each function is a function.
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26. Graph the inverse of the function below on the same grid.
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Rewrite each in exponent form
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Rewrite using a single radical.
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Simplify each of the following.  Leave answers in the most simplified radical form.

	33.
[image: image48.emf]


300










300



	34.
[image: image49.emf]


8a3










8

a

3



	35. 
[image: image50.emf]


a5b2










a

5

b

2



	36. 
[image: image51.emf]


54a4b23










54

a

4

b

2

3




	37. 
[image: image52.emf]


5 ⋅ 7










5

×

7



	38. 
[image: image53.emf]


63 ⋅ 183










6

3

×

18

3




	39. 
[image: image54.emf]


2a4b ⋅ 6ab3










2

a

4

b

×

6

ab

3



	40. 
[image: image55.emf]


4x2y54( )
2










4

x

2

y

5

4

( )

2




	41. 
[image: image56.emf]


9xy23 ⋅ 3x2y3










9

xy

2

3

×

3

x

2

y

3


	42.
[image: image57.emf]


100x3y5z ⋅ 2xyz










100

x

3

y

5

z

×

2

xyz




	43. 
[image: image58.emf]


−325










-

32

5



	44. 
[image: image59.emf]


−125x3y223










-

125

x

3

y

22

3




Rationalize the denominator and simplify.
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Find all real solutions to the following radical equations.  Make sure to check for extraneous solutions when necessary.
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	67. A sphere with radius r has a volume of 1131 cubic millimeters. The formula for the volume of a sphere is 
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8.  4x – 16
9.  2x – 26
10.  2x – 6.4

11.  All real except 
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 (see #18). So m(x) and r(x) are not inverses of each other.
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21.  
[image: image93.emf]


f (g(x)) = x2 −15










f

(

g

(

x

))

=

x2

-

15

.  Since this is not the same as x, f(x) and g(x) are not inverses of each other.

22.  a.  {7, 4, 3, -1, 9}

b.  {5, 4, -2, 8, 0}

c.  {(5, 7), (4, 4,), (-2, 3), (8, -1), (0, 9)}
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       d.  {5, 4, -2, 8, 0}

e.  {7, 4, 3, -1, 9}
26.
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59. n = -64

60. No solution (
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61. x = 242

62. x = 67

63. 
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64. x = -1
65. k = 4

66. X = 323.5

67. r = 6.5 mm
Page 1

_1291048787.unknown

_1291056694.unknown

_1291057738.unknown

_1291058718.unknown

_1291059550.unknown

_1291060156.unknown

_1322133907.unknown

_1291059744.unknown

_1291059838.unknown

_1291059680.unknown

_1291058766.unknown

_1291058855.unknown

_1291058910.unknown

_1291058975.unknown

_1291058880.unknown

_1291058781.unknown

_1291058747.unknown

_1291058221.unknown

_1291058630.unknown

_1291058651.unknown

_1291058598.unknown

_1291057828.unknown

_1291058202.unknown

_1291057827.unknown

_1291057506.unknown

_1291057589.unknown

_1291057688.unknown

_1291057716.unknown

_1291057607.unknown

_1291057559.unknown

_1291057572.unknown

_1291057526.unknown

_1291057061.unknown

_1291057092.unknown

_1291057485.unknown

_1291057087.unknown

_1291056767.unknown

_1291056962.unknown

_1291056724.unknown

_1291052376.unknown

_1291053478.unknown

_1291056447.unknown

_1291056652.unknown

_1291056676.unknown

_1291056546.unknown

_1291054817.unknown

_1291055942.unknown

_1291056411.unknown

_1291056009.unknown

_1291055115.unknown

_1291054794.unknown

_1291053208.unknown

_1291053422.unknown

_1291053449.unknown

_1291053225.unknown

_1291053273.unknown

_1291052467.unknown

_1291053040.unknown

_1291053158.unknown

_1291052704.unknown

_1291052429.unknown

_1291051024.unknown

_1291052051.unknown

_1291052333.unknown

_1291052358.unknown

_1291052323.unknown

_1291052148.unknown

_1291051140.unknown

_1291051389.unknown

_1291051520.unknown

_1291051220.unknown

_1291051102.unknown

_1291049039.unknown

_1291050972.unknown

_1291050997.unknown

_1291049361.unknown

_1291048961.unknown

_1291048998.unknown

_1291048942.unknown

_1291047858.unknown

_1291047869.unknown

_1291048087.unknown

_1291048237.unknown

_1291048256.unknown

_1291048195.unknown

_1291048113.unknown

_1291047872.unknown

_1291047996.unknown

_1291047974.unknown

_1291047870.unknown

_1291047863.unknown

_1291047866.unknown

_1291047868.unknown

_1291047864.unknown

_1291047861.unknown

_1291047862.unknown

_1291047860.unknown

_1291047849.unknown

_1291047854.unknown

_1291047856.unknown

_1291047857.unknown

_1291047855.unknown

_1291047851.unknown

_1291047852.unknown

_1291047850.unknown

_1291047843.unknown

_1291047845.unknown

_1291047848.unknown

_1291047844.unknown

_1291047840.unknown

_1291047842.unknown

_1291047839.unknown

